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COMPUTER SCIENCE (1) Jsler/ 023 g
PAPER CODE = 7835 GAS» ) N gy

Q. Paper : 11 (Objective Type)
Time Allowed : 15 Minutes

Maximum Marks : 10
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
It in zero mark in that question.

Cutting or filling two or more circles will resu
: i;&)uﬁé_./(..__- 5@[:4,’1&’6/&{9&2 1-1

(y}jf};’;) L#Qr‘/"‘ 23 & 15 . "”)
( New Course / g% ) 10 /f
L isD # CBA bzl s

Readability help to ---- the code :
All of these (17:« (D) Debug 4../1—6..3 (C) Modify A./(J“,«? (B)  Understand é,(A)
An if statement inside another if statement is ¢ lled —1 : ¢.I:M e f ‘Jﬂ@ﬁﬁ; if J}l\...f[/;!&&;}‘? if ..Q
‘ 74 c 2
structure :
Decomposed )”Jz/g)" (D) Repeated iim, (C) Boxed 4/} (B)  Nested &2 (A)
A set of multiple statements enclosed inbraces is called a : ; L?Uq@{ K laolic Wb ol
. ¢ - 3
Job =% (D) Block & (C) List & (B) Box UL (A)
- (2) l/%r‘/ —27
=== part of For Loop is executed first : Y
P
Body §3 Ve e e el 6+ For
3t (B) Condition Lf’ o ¥
: D 4-1
Increment / - N (A)
— — nt / decrement UJ/ / 2Ll (D) Initialization ﬁ e (©)
of the following is not a type of operator : ; L/Wf:' J ¥
v ek ” n
. Relational operator % T* , U OALI0Y ERYVE N
- Operaptor or /‘b{’L:uéJ (B) Arithmetic operator ﬁ{fy@/’;! (A) o
~ AL (D) Check operator ./’”/ i (C)
means to transfer the control to another function : b /}Jlju‘ J':G" L{»:-J /
Including t/_HE oz T STk A e
JE (D) Rewiing 48 (C)  Defining E43 (B)  caling ¥ (A) |
A float uses ------ bytes of memory : ' ijg,;:« J"»«’ 94: ( )
6 (D) 5 (C) & b —~—- LYu<Float
. 4 (B
The operatér % is used to calculate -------- ; ; 2 iy JL&(I i ' 3 (A) 7
Square D : i s 300 ‘ = . VL‘?{ —— 7K o
. (D) Factoral ot (C)  Remainder (31,42 (B) Potsnt é’« ke 8
Using loop inside loop is called - loop : ] ’U age & ¢ (A)
; : o
NESTED D ‘L . % b...’ e W‘Ku‘.')’])‘iu}l
------ are the values th - > (O LN, L (A; X
- ues that do not ch ' 9 ’ =
execution of program : ange during the whole ‘}”deaﬁ;‘c)’/ﬂéiiﬂﬁ/‘jydtf
COmments L. ) -, ’ e ! * i 1
usted (D) String £ (C)  Constant w2 (B)  variable s (A) 0
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COMPUTER SCIENCE
‘Paper : |l (Essay Type)
Time Allowed : 1.45 hours

Maximum Marks : 40
( PART-1 U3t )
8 2. Write short answers to any FOUR (4) questions : : é AR /:” L =iy (4) i = J:( -2
(i) What s difference between Char and int? fe J/ l,)/ J~ int ssl Char (i)
(i) What is meant by IDE? S sy g < IDE (i)
(iii) What is meant by syntax? S a2l y/ P e S (11|
2 Jw g S Sits (W)

(iv) Find errors in following code :
inta

Scanf (" % d ", a);
2 e esTE S St W)
inta=4b;
floatc=2.3;
b=c¢c*a,
printf (" % d",b);

(vi) Whatis the difference between = = operator and = operator? ?g_J/.g Syl = slpgT == (Vi)

il oz P Loty (@) e O 3

(v) Write the out put of the follewing code :

8 3. Write short answers to any FOUR (4) questions : 7
(i) Write down the structure of "if else’ statement. :‘26{ ik ifelse (i)

(ii) What are selection statements? St dﬂgwmu&&:lu (i)

(iii) Define control statement. ‘2“: -2 /;’.J_w‘-‘-/ Us /‘-f (iii)

2 S S5 (i)

(iv) Identify errors in the following code :
if (age > 70) ;

printf( " Senior Citizen " ) ;

(v) What is meant by array declaration? ?e:l/lfcw u%/:(k—ﬂ (v)
(vi) How is an array element accessed? S‘c‘;(}ﬂ bJJ’ u&vjzgfjuféé.n.{v (vi)

8 4. Write short answers to any FOUR (4) questions :
g e op = At )

(i) What is meant by loop structure?

(i) What is the out put of following code : rd lf oz 11 d/ 3 J:)' L (i)
for (inti=1; i< =10 ;i ++)
printf ("%d \ n",i);

(iii) ‘Which approach divides a problem into smaller ?u:.,/»’.f_é//ﬁ:w e J’VL)”.’.’:@:' f = o’u/ (i)
problems and why?
= é K1 l,,( gt S 5 Ut5 Lo (iv)

(iv) Indicate errors in following code :
int max {inta;intb)

\\\ {
A if @a>b);
return a ;

T retumb ;
} - W7

(v) Definefunction. ,,-é i/ J U'G . W)
E Gl wd A

(vi) Write name of types of functions.
( PART-1II (9 2 )
_é.:«yliﬁ:aw,’»gaf *

Note : Attempt any TWO questions.
5. Why do we use comments in programming ;éyuaJ(QiJu’l ¥ ?ugL/Ulﬁ"lu[ uuh}af uﬁ.f"/;g

and also define its types.

224 6. Whatis escape character? _é:wlini VLJ@JJ%J#L':LﬁJWlEgJM ?:rmg}{/_”‘é!
escribe an escape sequence used for new line with example. 5 _ ;

8 - 7. Write a program using FOR loop that print -c,uJ....,:’FOR ;/&/ﬁ’ﬁ'aﬁzé‘t_%z Pl ¢ U;{..g
‘. first five even numbers. ) : T -
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COMPUTER SCIENCE (U Jizler) 023 S s
Q. Paper : II (Objective Type) PAPER CODE = 7832 ()/(,5:”5/’ ) W .;4,3',/
Time Allowed : 15 Minutes (b’«:ﬁ/») b #2'2"'2 15 1 =
Maximum Marks : 10 ( New Course /4% ) 10 : AF

L.,«L?.c//).:,du:fbéié)é"_b«_'idir/;{él@fﬁ -UZZé.JD » CB'A &E'}ZA'E;JLOLJ'}’/[ JOF.
-?ﬂzr"}bﬁ_’/'}? a/:’jiu::«/!‘kj L./(/; yo's 4 L/(/:fu,fbu.lzk;ug ba, ufgﬁtﬁ}uw&ftb/

Note : Four possible answers A, B, C and D to each question are given. Thg qhoice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that gquestion.

Single line comments start with : : LJE'Z-J’?C!;’ ity SL‘JCUJ{’.“ 1.4
*II (D) /I (C) i* (B) /* (A)

Which of the following keyword used for store integer - é.t‘lglg’/db}!iug( qufé_ﬁé_./c,r"f%} 3 matal 5
data type:

void (D) int (C) char (B) float (A)
Which operator has highest precedence among the following Z ct_upc,.,/é}‘fﬁg "tf/ =Y 0L 3
= = {D) 11 (C) = (B) () A
. //..J/JJ' tQ 212 b .
Format specifier % C shows the data type : retbies () &3 % C 7yl 4
void (D) char (G) float (B) int (A)
e ( 5 ) Lt B s
A set of multiple instructions enclosed in braces is ; ‘Lt‘M ceee bl lie Ll J oy
called a ----- ; -
Job o2 (D) Box UL (C) Block It (B) List & (A)
C-programming language also provide -— ﬁ:.b’ﬂdl.*’f"ujﬁ/‘ - gj.[_dlr"'ﬂiﬂﬂufé)@.@j{-C
structure to _deal with conditions : 6
Switch case u’-‘r éy’ (D) Loop E:J (C) Functions /36 (B) Tree 3/ (A)
Which one of the following is the size of int arr [5] : : fﬁlf‘/’(x(int arr [5] 7
5 (D) 6 (C) 2 (B) 4 (A)
An array is @ ------ structure : ; §.ﬁ(ﬁ ot el Wl 8
Conditional J%’,U/ (D) Loop ._.:,;‘ (C) Control J;}f (B) Data 5 (A)
------- means to transfer the control to another function : = c‘,L//“'J l/‘u'-fuiank.gf:gl/c_ - 9
Including 1P (D) Rewriting »ul:/':’/-dz (C)  Defining .ﬁ/@} (B) Calling 1 (A)
How many values return by a function : i 4_;.\:@@ ﬁ;ﬂﬂ)&)&u&]f& .,{l 10
Three ¢& (D) Two » (C) One £/ (B) Zero 7 (A)

217-023-II(Objective Type)-10750  (7832)
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COMPUTER SCIENCE (V) Jziewr) 023 e ,g/
“Paper : Il (Essay Type) (u:/ 193 LHQ«——Z"ZB (d axslan)) 11 2
Time Allowed : 1.45 hours ( New Course /9% ) 145 .J;
Maximdm Marks : 40 40 : /‘f
( PART-1 3 -»)
8 2. Write short answers to any FOUR (4) questions : : b =R /‘.? L iy (4) /e = Jf -2
(i) Define text editor. e g )
(if) What is the purpose of single line comments? V‘;.MAWUMJM{“ (i)
(iii) What is variable declaration? VL}/VQ;J;'/{;J/.”' (iii)
(iv) Define getch () function. -a‘fJ/’J«Iﬁ getch () (i)
(v) Define arithmetic operators. Z: - /’d//// !M' (v)
(vi) Trace the error of the following code : ZJ Urfuu‘ & :[J sounr (Vi)
N printf ( I live in Lahore ) ;
8 3. Write'short answers to any FOUR (4) questions : > Y7 4 /:." L iy 4) /b < Jf -3
(i) What is conditional logic? (’clz.t[&b" L);‘ (i)
(i) Draw flow chart for if-else statement. » _ -2.“.,{:::,«/15}5(;}}? if-else (i)
(iii) identify the error in the following code, : , : g J 1}7'0}')‘ uﬁfJ: 38 (iii)
ot x=5;
if (x>3);
printf ( "Good ") ;
(iv) Write output of the following code : (o) 2 édx,&fﬂﬁ:@l)’@» (iv)
;rr:t ; =5, ,
if (x<y)

printf (" Correct" ) ;
printf (" Incorrect " )4

(V) What is meant by array declaraton? "c.;/u/c:,u"/“vd/ s (V)
(vi) Declare an array of type float that can store 5 values. -£/}ffu6¥5£q{ﬁ(’£{h{ ur__;rm;u b (vi)
8 4. Write short answers to any FOUR (4) questions : é LL?/"?L Ulr(4)1g’¢.é/ -4
(i) Describe the structure of for loop. ..Z:ub///(._«)’ for 0]
(i) Define nested loop. _£ ._.a!/’ d/ 5;)1 == (i)
(iii) Enlist the parts of function definition. -éftﬁgr"iu‘f&5u:ﬁ (iii)
(iv) Describe the advantages of using functions. -é e 6L J1L /-36 (iv)
(V) What are built in functions? ?@Lﬂg}ﬁﬁuuu, (v)
(vi) How many values can a function return? <‘§.L“J:/u/:/uf‘3u“‘(ﬁ.g (vi)
( PART - 11 (93 2 )
Note : Attempt any TWO questions. -ée,pzé.pmmc,él tad
8 5. Explain the data type in C-language. ,zfyu,&.gwiu:éy@. <8
8 6. Define operator. Explain different types of logical -é w&;d/)/‘,{ 7{5’;‘ L(L:"f..iﬁ’ *Z.{..é{/.fp(/‘;/j -6
operators.

4.4 7. Write a program in ‘./_/..///u/@/wumo <1 i;b('//ufdéﬂ.C@rL/UWlf JFOR .7

C-language to print 1 to 100 numbers on screen using FOR loop.
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